
1) 70.2 + 64.8

Answer: ____________

2)

'Name the type of angle.

Answer: ____________

3) 20 - 15 - 18 + 17

Answer: ____________

4) Write 1 x 101 as a normal number.

Answer: ____________

5) Decrease 268 by 3/134

Answer: ____________

6) 2 x 5

Answer: ____________

7) $424.00 earning 5.9% compound 
interest for 10 years.

Answer: ____________

8) Find the mean of the following set of data:

16, 0.5, 0.7, 3

Answer: ____________

9) 10 x 1000

Answer: ____________

10) Find the percentage change from 16 
to 28

Answer: ____________

11) 16000 ÷ 1000

Answer: ____________

12) 16000 ÷ 1000

Answer: ____________

13) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

14) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

15) Decrease 225 by 1/75

Answer: ____________
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16) 98 - 81

Answer: ____________

17) 25.7 x 10.7

Answer: ____________

18) 10/127 of 254

Answer: ____________

19) 71 * 77

Answer: ____________

20) Share 12 in the ratio 9:3

Answer: ____________

Total: ___ / 20
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Answers:

1) 135 2) Right 3) 4 4) 10 5) 262 6) 10 7) $752.19

8) 5.05 9) 10000 10) 75% 11) 16 12) 16 13) 1/3 14) 1/3

15) 222 16) 17 17) 274.99 18) 20 19) 78 20) 1 : 11
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